
Bodeplots: Beispiel 2

ෞ𝒖𝟐
ෞ𝒖𝟏

=
𝒋𝝎 ∙ (𝟏𝟎𝟎 + 𝒋𝝎)
𝟓𝟎 ∙ (𝟏 + 𝒋𝝎)𝟐

13

-
T I
-

= I. Goo ina

4jn)(1+ ja)

I

AMPLITLDE PHASE

Zero At Orkin
cast. So Frea

T eno W = 0 + 20 dB /dec
CRICINI

DOLBLE LEFT HALF. PLAN POLE

-40 dB/dec
- 188

:

[BEre 2 dec

I e W2 = 1 (Syritrsat)

I LENT HALF . PLANI ZERO
↑ zo dis/dec + 80 Fre 2 dec

& W3 = 100

(Syritrsat)

&



Bodeplots: Beispiel 2

14

-
~

wai litt

!sterones : 20 · (((jva)] = a

O ·

~ 20 - 40 des /dic

+ 20 B lac

-48 ·
+Zodis lau

- 69

=
1 Hz

=
100 Hz

~ So ·Z

↑
Wis

I

Zw. = so 12-1 189 ion
no
? 13 not

= 1

900

4T

&

- 45

- go I Wa I
M
↳

3 I

16
- I

10
- 1

100
10 10 no3 1o

= 1


